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A slave cannot become an agent, etc. - 990 bR Yl Tavs PPN

Overview

The mawn stated' that a *331 is 2109 to bring a v3. The &n3 discussed what is the rule
concerning an °1¥1> 72Y; to which "oX 17 said in the name of 17 " that an 72¥
cannot be a MW to receive a va.

nooIN asks:
- zu’::n: T2y )9V 591 12y Y 12523519 99RN ON)

And if you will say; why does not our ;71w teach us that an 72y is %05 to be a
va1 oW, and we would know that a "33 is certainly 7100 —

mooIn offers a partial response:
- RN AN PR T 9095 1IN 39 9INT NIWrYD

And according to the version that ''9 said previously, ‘this is not the law’, it is

understood -
- *9wa 022919 721y 959N N3N PIYYT PTINAY B2915 T2 VT

That the reason our 71w» mentions a 31 (that he is 7109 to be a m>W), is for the
inference, that he is only 7109 for a m>w, however regarding writing a v3, even a

151 is s -
- SNOTIT 130D 5297 JO1 WP TMYIN 2393 )INY 539 ¥PINT “XIWY ThY Han

However according to the version that >''9 establishes the n1iwn like X''9 (that
we require 72w7 72°n2) there is a difficulty from this ruling of >'' here —

Ly,

2 A "1 is not fit for any m°?w, for we derive it from 2"2 DdmMPWw A% N°72 °32 anR 72 (see the X 73 shortly), however
an 72y can be a 7w for certain matters, since he is a n°72 12, for he is WX NM¥na 217 (he just cannot be a MW for
TYWITRY 13 since he is not PYITRY v nn3). Had the mawn taught us that an 72y is 9105 we would know that a >133
(who is not a 2"2 and not PYITPY V) NTN2) is certainly 9109.

> On X,20 the X3 cited *"3 MR XpP>97 " said that 770 7 PR, this that you require 7w 72°03 is incorrect, for we rule
like n"1 that >n1> 1"y (and 72w5 7% 205 refers to the m2°nm; not the 712°n3). According to this version of *"2 we can
answer '00 question.

* Regarding this inference that one is 9109 only for mm9w, but is > for 72203, the greater WITn is by a *131 (more
than an 72¥) that even a °121 who is not a N2 32 (like an 72¥), nevertheless he too can write the v, since we do not
require WY 72°N3.

5 The X3 on X,20 states *"'17 R29K) 17711 *RIMK; there are two views; whether " follows "3 (and we do not require
WS 12°n), or " follows X" (and we require 7w 72°N2).

6 If >" follows X"2 we cannot infer from our 71w that a *121 may write a b3, for according to X" a 121 cannot write
a vx (even if 3"vyv3), the question then remains why did not the 73wn rule that an 72v cannot be a m°>w, and we would
know that certainly not a »1217?!
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N1B0IN answers:
- 79199 9993031 ©52915 721¥ JIIMNYRY 02919 T2IY VPIT BN 19529 N

And the n''% answers that the 71w»n mentions a 921 to inform us the rule that if

he was a 3721 when he received the v) and he was later 29an» he is 109 to deliver

the vi even after he was 7»an1 -
- 595079 YT NNPH DYY NIMNAY 39 YY 9N

Even though that at that time when he received the v3 as a *721 he intended to be

M9Ann, nevertheless he is 9109; this w7 -
$99NHVYNY 1793 IRV Tayan 2910 XM D295 T2Iya MHNT

Is a greater novelty by a 921, who has the ability to be 9302 than by an 72y
who does not have the ability to be freed.

Summary
The 71w»n mentions 121 (not 72v) either for the inference that he is w2 for 72°n2, or

that even though he intended to be 27ann he still cannot be a oW

Thinking it over
Why should there be even a XX ™M that since he intends to be 7°°an1, he should

be w3 to be a "W, since as of now he is still a >33 and cannot be a m*5w?!”

7 The mwn mentions a *21 for the case later in the 73wn of 9N 31,

¥ We may have thought that since he intends to be 7»3n» and there is nothing preventing him from doing so, he
should be considered a '87n°7 12’ since when he delivers the v3 and the w173 are 91, he is a 73 (so his mnhw should
be valid retroactively [see ‘Thinking it over’]). However by an 72y there is no such 1711, since an 72¥ does not have
the capacity to free himself and become a full fledged 7% w>; for he is totally dependent on his master.

? See TN wIon TN # 59.
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